
CHEMISTRY

BOOKS - NTA MOCK TESTS

NTA NEET SET 84

Chemistry

1. The IUPAC name of the complex 

is

A. Diamminechloride (aminomethane) platinum (II) bromide

B. Diammine (methanamine) chloridoplatinum(II) bromide

C. Diamminechlorido(methanamine) platinum(II) bromide

[Pt(NH3)2Cl(NH2CH3)]Cl

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tkxUfV7LjIq2


D. Bisammine (methanamine) chloridoplatinum (II) bromide

Answer: C

Watch Video Solution

2. Oxidation number of rubidium in  ,

can be given respectively , as

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Rb2O, Rb2O2 and RbO2

+1, + 4 and + 2

+2, + 1 and +
1

2

+1, + 1, and + 1

+1, + 2 and + 4

https://dl.doubtnut.com/l/_tkxUfV7LjIq2
https://dl.doubtnut.com/l/_yFpVywbblk3j


3. For coagulation of arsenious sulphide sol, which one of the

following salt solution will be most effective ?

A. 

B. NaBr

C. 

D. 

Answer: A

Watch Video Solution

AlCl3

BaCl3

Na3PO4

4. In the following reactions , products (X) and (Y) respectively are

 side products 

 side products

NaOH
( hot and conc )

+ Cl2 → (X) +

Ca(OH)2
( dry )

+ Cl2 → (Y ) +

https://dl.doubtnut.com/l/_KMnc4gGKrUAg
https://dl.doubtnut.com/l/_qu2cokRzRLH9


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NaOCl and Ca(ClO3)2

NaClO3 and Ca(Ocl)2

NaOCl and Ca(Ocl)2

NaClO3 and Ca(ClO3)2

5. Preparation of Bakelite proceeds via reactions:

A. Electrophilic addition and dehydration

B. Condensation and elimination

C. Electrophilic substitution and dehydration

D. Nucleophilic addition and dehydration

https://dl.doubtnut.com/l/_qu2cokRzRLH9
https://dl.doubtnut.com/l/_PFwp4M33iNhK


Answer: C

Watch Video Solution

6. Radial nodes present in 2s and 2p - orbitals are respectively

A. 0,2

B. 1,0

C. 2,1

D. 1,2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PFwp4M33iNhK
https://dl.doubtnut.com/l/_a7S4DR2BSZC8


7. The freezing point of equimolal aqueous solution will be

highest for

A.  (aniline hydrochloride)

B. 

C. 

D.  (Urea)

Answer: D

Watch Video Solution

C6H5N
+H3Cl

−

Mg(NO3)2

La(NO3)3

NH2CONH2

8.  


The product 'X' formed in above reaction is

https://dl.doubtnut.com/l/_j60WQlJZXAjm
https://dl.doubtnut.com/l/_xjHAKqoiKFPX


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

9. A solid is formed and it has three types of atoms X, Y and Z, X

forms a fcc lattice with Y atoms occupying all tetrahedral voids

https://dl.doubtnut.com/l/_xjHAKqoiKFPX
https://dl.doubtnut.com/l/_roc2AFIM5a1P


and Z atoms occupying half of octahedral voids. The formula of

solid is :-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P4QR2

P4Q2R

PQ2R4

P2Q4R

10. Which one of the following statements regarding Henry’s law

is not correct ?

A. The value of  changes with function of the nature of the

gas.

KH

https://dl.doubtnut.com/l/_roc2AFIM5a1P
https://dl.doubtnut.com/l/_kdoxxBgxIQEK


B. Higher the value of  at a given pressure, higher is the

solubility of the gas in the liquids

C. The partial pressure of the gas in vapour phase is

proportional to the mole fraction of the gas in the solution

D. Different gases have different  (Henry's law constant)

value at a same temperature.

Answer: B

Watch Video Solution

KH

KH

11. 6 mol of a mixture of Mohr's salt and  requires 500

ml of 1 M of  for complete oxidation in acidic medium .

The mole % of the Mohr's salt in the mixture is

A. 75

Fe2(SO4)3

K2Cr2O7

https://dl.doubtnut.com/l/_kdoxxBgxIQEK
https://dl.doubtnut.com/l/_GC9yM8QWhk9a


B. 50

C. 60

D. 25

Answer: B

Watch Video Solution

12. The number of aldol reaction (s) that occurs in the given

transformation is 

A. 5

B. 3

CH3CHO + 4HCHO
conc .NaOH
−−−−−−−→

https://dl.doubtnut.com/l/_GC9yM8QWhk9a
https://dl.doubtnut.com/l/_9Gc6BIvrETIH


C. 2

D. 4

Answer: B

Watch Video Solution

13. The total number of lone pair of electrons in  is

A. 2

B. 4

C. 6

D. 8

Answer: D

Watch Video Solution

N2O3

https://dl.doubtnut.com/l/_9Gc6BIvrETIH
https://dl.doubtnut.com/l/_6WVl9vtPgVIM


14. Amylopectin in composed of:

A.  - D - glucose ,  linkage

B.  - D - glucose ,  linkage

C.  - D - glucose ,  linkage

D.  - D - glucose ,  linkage

Answer: A

Watch Video Solution

α C1 − C4 and C1 − C6

α C1 − C4 and C2 and C6

β C1 − C4 and C2 and C6

β C1 − C4 and C1 and C6

15. An acid-base indicator has a  of . The acid form

of the indicator is red and the basic form is blue. (a) By how much

must the  change in order to change the indicator from 

red to  blue?

Ka 3.0 × 10− 5

pH 75 %

75 %

https://dl.doubtnut.com/l/_6WVl9vtPgVIM
https://dl.doubtnut.com/l/_ufLx38FtXizS
https://dl.doubtnut.com/l/_ZXuToL2G7mQn


A. 0.65

B. 1.3

C. 0.954

D. 1.9

Answer: C

Watch Video Solution

16. If the dipole moment of AB molecule is given by 1.6 D and A - B

the bond length is  then % covalent character of the bond is

A. 25

B. 33.33

C. 66.66

D. 75

1Å

https://dl.doubtnut.com/l/_ZXuToL2G7mQn
https://dl.doubtnut.com/l/_kAvJVL8eIWYm


Answer: B

Watch Video Solution

17. Which of the following statement is not correct ?

A. generally Tollen's reagent is used in detection of

unsaturation

B. Fehling solution is used in detection of glucose

C. neutral  is used in detection of phenol

D.  is used in detection of carbonyl compound

Answer: A

Watch Video Solution

FeCl3

NaHSO3

https://dl.doubtnut.com/l/_kAvJVL8eIWYm
https://dl.doubtnut.com/l/_4KdZu2kno9de


18. Match List I (substances) with List II (processes) employed in

the manufacture of the substances and select the correct option 

A. 1 - (i), 2 - (iv) , 3 - (ii) , 4 - (iii)

B. 1 - (i), 2 - (ii) , 3 - (iii) , 4 - (iv)

C. 1 - (iv), 2 - (iii) , 3 - (ii) , 4 - (i)

D. 1 - (iv), 2 - (ii) , 3 - (iii) , 4 - (i)

Answer: D

https://dl.doubtnut.com/l/_EZatPfxCzQrn


Watch Video Solution

19. The number of  bonds in urotropine is

A. 2

B. 4

C. 6

D. 5

Answer: C

Watch Video Solution

N − CH2 − N

20. In a compound  atoms are present in  by

weight. Molecular weight of compound is . Its molecular

formula is:

C, H, N 9: 1: 3.5

108

https://dl.doubtnut.com/l/_EZatPfxCzQrn
https://dl.doubtnut.com/l/_tUSCVHGnt9n9
https://dl.doubtnut.com/l/_aX8tb0f0vILp


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H6N2

C3H4N

C6H8N2

C9H12N3

21. Calculate standard free energy change for the reaction

 Given : 

A. 

B. 

C. 

D. 

2Ag + 2H + → H2 + 2Ag+ E ∘
Ag + /Ag

= + 0.80V

−308.08kJ

154.4kJ

77.2kJ

−154.4kJ

https://dl.doubtnut.com/l/_aX8tb0f0vILp
https://dl.doubtnut.com/l/_0Lj8kvpRzpsg


Answer: B

Watch Video Solution

22. Pb and Sn are extracted from their chief ore by

A. carbon reduction and self reduction

B. self reduction and carbon reduction

C. electrolysis and self reduction

D. self reduction and electrolysis

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0Lj8kvpRzpsg
https://dl.doubtnut.com/l/_DV2rbi7YLabE


23. Chlorination of toluene in the presence of light and heat

followed by the treatment with aqueous KOH gives

A. m - Cresol

B. p - Cresol

C. 2,4 - Dihydroxytoluene

D. Benzoic acid

Answer: D

Watch Video Solution

24. Which of the following co-ordinate complexes is an exception

to EAN rule ? 

(Given atomic number )Pt = 078, Fe = 26, Zn = 30, Cu = 29

https://dl.doubtnut.com/l/_X0YHuBoQ7Qk9
https://dl.doubtnut.com/l/_ftdLlrERtkaT


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Pt(NH3)6]
4 +

[Fe(CN)6]
4 −

[Zn(NH3)4]
2 +

[Cu(H2O)4]
2 +

25. The crystal system of a compound with unit cell dimensions a

= 0.388 , b = 0.388 and c = 0.506 nm and

 is

A. Hexagonal

B. Cubic

C. Rhombohedral

α = β = 90∘ and γ = 120∘

https://dl.doubtnut.com/l/_ftdLlrERtkaT
https://dl.doubtnut.com/l/_GGdm32zu4hlC


D. Orthorhombic

Answer: A

Watch Video Solution

26. The number of isomers for the compound with molecular

formula  is:

A. 2

B. 4

C. 6

D. 9

Answer: C

Watch Video Solution

C2BrClFI

https://dl.doubtnut.com/l/_GGdm32zu4hlC
https://dl.doubtnut.com/l/_Z1lc4AOAXZux


27. The solubility order for alkali metal fluoride in water is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

LiF < RbF < KF < NaF

RbF < KF < NaF < LiF

LiF < NaF < KF < RbF

LiF > NaF > KF > RbF

28. Food preservatives prevent spoilage of food due to microbial

growth. The commonly used preservatives are :

A. vegetable oils and sodium benzoate

B. C6H5COONa

https://dl.doubtnut.com/l/_ZSJRj5oRYm2S
https://dl.doubtnut.com/l/_5GS0ZhWSDYBm


C. table salt, sugar

D. all of the above

Answer: D

Watch Video Solution

29. Identify the pollutant gases largely responsible for the

discoloured and lustreless nature of marble of the Taj Mahal.

A. 

B. 

C. 

D. 

Answer: D

W h Vid S l i

N2 and CO2

SO2 and O3

CO2 and NO2

SO2 and NO2

https://dl.doubtnut.com/l/_5GS0ZhWSDYBm
https://dl.doubtnut.com/l/_LFKZHR4CikiW


Watch Video Solution

30.  is the probability of finding the Is electron of hydrogen

atom in a spherical shell of infitesimal thickness, dr, at a distance

 from the nucleus. The volume of this shell is . The

qualitative sketch of the dependence of  on r is

A. 

B. 

C. 

P

r 4πr2dr

P

https://dl.doubtnut.com/l/_LFKZHR4CikiW
https://dl.doubtnut.com/l/_hcdw1Oq47Mnb


D. 

Answer: D

Watch Video Solution

31. Which of the following will be the major product when 3 -

phenylpropene reacts with HBr?

A. 

B. 

C. 

D. 

Answer: B

C6H5CH2CHBrCH3

C6H5CHBrCH2CH3

C6H5CH2CH2CH2Br

C6H5CHBrCHCH2

https://dl.doubtnut.com/l/_hcdw1Oq47Mnb
https://dl.doubtnut.com/l/_Y4b5fWgCv7v9


Watch Video Solution

32. In an isothermal expansion of one mole of an ideal gas

against vacuum from 5 litre to 50 litre at 300 K, the quantity of

heat absorbed by the gas is

A. zero

B. 80 lit. Atm

C. 1380 cal

D. 

Answer: A

Watch Video Solution

−1380cal

https://dl.doubtnut.com/l/_Y4b5fWgCv7v9
https://dl.doubtnut.com/l/_LCAcMs0Nc7Fl


33. The lattice energy of solid  is . The

dissolution of the solid in water in the form of ions is

endothermic to the extent of . If the hydration

energies of  and  are in ratio , what is the enthalpy

of hydration of  ion

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NACl 180K. Calmol− 1

1K. calmol− 1

NA+ Cl− 6: 5

NA+

−8.5  kcal mol − 1

−97.64  kcal mol − 1

+82.6  kcal mol − 1

+100  kcal mol − 1

https://dl.doubtnut.com/l/_0lbbNWc7G7L3


34. Three moles of  are completely reacted with methanol.

The number of moles of boron containing product formed is.

A. 2

B. 4

C. 6

D. 3

Answer: C

Watch Video Solution

B2H6

https://dl.doubtnut.com/l/_HMwM3KffpmZC


35.  


What is B in the given scheme ?

A. 

https://dl.doubtnut.com/l/_BwN1UysJS95o


B. 

C. 

D. 

https://dl.doubtnut.com/l/_BwN1UysJS95o


Answer: D

Watch Video Solution

36. A graph plotted between log  vs log concentration is a

straight line. What conclusion can you draw from this graph? 

A. 

B. 

t50 %

n = 1, t1 / 2 =
0.693

k

n = 2, t1 / 2 =
1

a

https://dl.doubtnut.com/l/_BwN1UysJS95o
https://dl.doubtnut.com/l/_1fp9s5eZz3h0


C. 

D. None the these

Answer: A

Watch Video Solution

n = 1, t1 / 2 =
1

ka

37. How many of these compounds can undergo Cannizzaro

reaction here 

, 

 , 

A. 2

B. 4

C. 6

CH3CHO, CH3COCH3, HCHO, Ph − CHO, Ph − CO − CHO

PhCOCH3

https://dl.doubtnut.com/l/_1fp9s5eZz3h0
https://dl.doubtnut.com/l/_fSw287K4JMa4


D. 8

Answer: B

Watch Video Solution

38. Which of the following volume-temperature  plots

represents the behaviour of  of an ideal gas at the

atmospheric pressure?

A. 

B. 

C. 

(V − I)

1mole

https://dl.doubtnut.com/l/_fSw287K4JMa4
https://dl.doubtnut.com/l/_arR5wHpH3Ht4


D. 

Answer: C

Watch Video Solution

39. What final product will form when alcoholic KOH is treated

with 1,1- dirbomoethane ?

A. Ethene

B. Ethane -1, 2 - diol

C. Acetaldehyde

D. Ethyne

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_arR5wHpH3Ht4
https://dl.doubtnut.com/l/_98iMpSHEhYJI


40. The molecular formula of diphenylmethane , 

 , is , 


How many structural isomers are possible when one the the

hydrogen is replaced by a chlorine atom ?

A. 6

B. 4

C. 8

D. 7

Answer: B

Watch Video Solution

C13H12

https://dl.doubtnut.com/l/_98iMpSHEhYJI
https://dl.doubtnut.com/l/_jJ0F1PyZfPGd


41. The pH of a solution obtained by mixing equal volume of

solutions having pH = 3 and pH = 4. 

[log 5, 5 = 0.74]

A. 3.42

B. 3.6

C. 

D. 3.26

Answer: D

Watch Video Solution

4.0

42. A compound with molecular mass 180 is acylated with

 to get a compound with molecular mass 390. theCH3COCl

https://dl.doubtnut.com/l/_TDW3YkH5I2KA
https://dl.doubtnut.com/l/_7iHNpv6tE83T


number of amino groups present per molecule of the former

compound is-

A. 1

B. 3

C. 5

D. 4

Answer: C

Watch Video Solution

43. The correct order of reactivity for the addition reaction of the

following carbonyl compounds with ethyl magnesium iodide is 

https://dl.doubtnut.com/l/_7iHNpv6tE83T
https://dl.doubtnut.com/l/_fV5nmCXxZzqs


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

III > II > I > IV

IV > III > II > I

I > II > IV > III

I > III > II > IV

44. For the reaction  , initially concentrations of p

and q are equal and at equilibrium the concentration of s will be

twice of that of p. What be the equilibrium constant for the

reacation ?

A. 2

B. 4

p + q ⇔ r + s

https://dl.doubtnut.com/l/_fV5nmCXxZzqs
https://dl.doubtnut.com/l/_6eedJ2LxL7vF


C. 

D. 8

Answer: B

Watch Video Solution

1/4

45. An orgainc compound A upon reacting with  gives  On

heating  give  in presence  reacts with  to yield 

 is .

A. 

B. 

C. 

D. 

NH3 B

B C. C KOH Br2

CH3CH2NH2A

CH3 − CH
∣

CH3

− COOH

CH3CH2COOH

CH3COOH

CH3CH2CH2COOH

https://dl.doubtnut.com/l/_6eedJ2LxL7vF
https://dl.doubtnut.com/l/_LnWXqWAg3Roq


Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_LnWXqWAg3Roq

